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11.
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13.

PART -1
General Knowledge / General Studies

In Windows OS, in order to permanently delete a file from the computer, which of the
following keys should be pressed ?

(a) Ctrl+ Delete (b) Alt+ Delete (c) Delete + Delete  (d) Shift + Delete
Which of the following king was called ‘Shakari’ ?

(a) Samudragupta (b) Chandragupta Vikramaditya

(¢) Chandragupta Maurya (d) Kanishka

The unassigned jagir lands managed temporarily by the Diwan-i-Khalisa was known as :
(a) Peshkash (b) Paibaqi (c) Madad-e-Mash  (d) Ghurab

The ‘Sunset’ law was associated with which of the following land revenue system ?

(a) Ryotwari settlement (b) Mahalwari settlement

(c) Ijaradari system (d) Permanent settlement

Who gave the slogan “One Religion, One Caste, One God for mankind” ?

(a) Narayan Guru (b) Jyotiba Phule

(¢) Subhash Chandra Bose (d) Mohandas Karamchand Gandhi

The Marathas learnt the art of guerilla warfare from :

(a) Mahabat Khan (b) Man Singh &3 &
(c) Malik Amber (d) None of the above nﬁ:
In the context of Indian freedom movement Komagata Maru was a : i
(a) Japanese ship (b) Secret revolutionary society

(c) Banned political organisation (d) Newspaper

Who was credited for taking the first important step towards financial decentralization in
India ?

(a) Lord Irwin (b) William Bentinck (¢) Lord Cornwallis (d) Lord Mayo

Which one of the following fundamental rights is available to any person on the soil of
India - citizen or foreigner ?

(a) Protection from discrimination on grounds only of religion, race, caste, sex or place of birth
(b) Equality of opportunity in matters of public employment

(c) Cultural and educational rights of minorities

(d) Right against exploitation

When was NITI Aayog established ?

(a) 2015 (b) 2016 (c) 2017 (d) 2018

In India, who is the guardian of public purse ?

(a) Indian Parliament

(b) The President of India

(c) Comptroller and Auditor General of India

(d) Supreme Court of India

How many members are required to call a special meeting of the Zila Parishad ?

(a) 1/2 of the total members (b) 1/3 of the total members

(c) 1/4 of the total members (d) 1/5 of the total members

A computer having a memory capacity of 256 M Bytes can store  bytes at maximum.
(a) 256 x 1024 x 1024 (b) 256 x 109 x 8

(c) 8x 256 x 256 (d) 1024 x 256
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1. IS sifaifen foen o wget @ foneft wIsct ol TR €9 A geH o fofu = 4 & &1 = Hoit
SeH =TT 7
(a) Ctrl + Delete (b) Alt + Delete
(c) Delete + Delete (d) Shift + Delete
2. fy=faRea o & form smoes &1 THRY a1 SITaT an ?
(a) THETTH (b) == faspmifee  (c) =gTE HH (d) HfTsh
3. S o g SRR §9 8 Y AT fir b T T ST o ?
(a) UErRI (b) HTuSTERT (c) WeG-U-H (d) T
4. qorer Trm fore it ToTes e & weia ot ¢
(a) WA SFIEAT (b) HETR SIEEqT  (¢) IONEH el (d) Turf sy
5. “Ush 9H, Ueh SIIfd, HTedl shl Ueh $3e0” shT AW fohe feam 2
(a) TRV & (b) ST Rt (c) GUTS=S 9 (d) TSI TG et
6. TSI A oot WHIT fhad et ¢
(a) HEEd @i (b) THfE (c) HfcTeh 3T (d) IHIH IS ot T
7. WA TEdadn ST o Geyl T ohIHmTTaT JE o= 47 ?
(a) UM & (b) T FRIfhII TG
(c) Sfaafera Terfaes dmea (d) FHER-TF
8. i H forfta ferhmsfiertor <t feum & wdwery wewaul sheH I3 1 91 feheen! SITar & 7
(a) TS e (b) Taform dfés (c) @S MA@ (d) i T
9. =T ®H a1 U Hifersh AR I ht it vt st o fot =g s 81 = faeef,
ITAH F 7
(a) haoT UH, T&A, ST, Tl o1 - % 3R W Hewre 9 &1
(b) <reh TS & forsar O 31e e 1 T
(c) ITCTTEIeh  TREhieh Tdl A& HTUHR
(d) 3T % fareg FAferpR
10. =i STRINT 1 TS el g ?
(a) 2015 (b) 2016 (©) 2017 (d) 2018
11. W 8 ST 3 ©F ol §TeTeh i 8 7
(a) YR HEg (b) YR o TFATd
(c) YRd o foeeh ue HeTerat qiieteh (d) YR 1 S=AH T
12. TSer uftag i forsi S goim o forw fopa Tewti bt Stravaehdr g 2 7
(a) P GG 1/2 (b) FT GG o 1/3
(c) FeT GG o 1/4 (d) FT TG 1/5
13. U shegex foarehl A &maT 256 M Bytes 8, a1 31ferehad bytes <! T T ThaT 2 |
(a) 256 x 1024 x 1024 (b) 256 x 105 8
(c) 8x256x256 (d) 1024 x 256
— N - v
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24.

25.

In which year the Supreme Court of India passed the Judgement for treating Transgenders
as ‘Third Gender’ ?
(a) 2012 (b) 2014 (c) 2016 (d) 2019

Which of the following states has lowest Christians population according to 2011 census ?
(a) Rajasthan (b) Madhya Pradesh (c) Bihar (d) Himachal Pradesh

Which of the following passes of Siachin Glacier is not in India ?
(a) Gyongla (b) Gasherbrum (c) Saltoro (d) Vilafondala

India invokes the “Thalweg principle” regarding which of the following ?
(a) Kari Creek (b) Kajhar Creek (c) Sir Creek (d) Sir Davis

Which one of the following is the best quality of iron ore ?
(a) Siderite (b) Limonite (c) Magnetite (d) Hematite

Which one of the following states has maximum percentage of Scheduled Caste population
as per 2011 census ?

(a) Haryana (b) Uttar Pradesh (c) West Bengal (d) Himachal Pradesh
Rajiv Gandhi National Ground Water Training and Research Institute is located at :

(a) Bhopal (b) Lucknow (c) Raipur (d) Dehradun
Silurian rocks are related to which of the following rock systems ? EIE:EI
(a) The Dravidian Rock System (b) The Purana Rock System Eﬁ?
(¢) The Aryan Rock System (d) The Archaean Rock System =

Which of the following is not among the seven priorities named as ‘Saptarishis’ in the Union
Budget of India 2023-24 ?

(a) Reaching the last mile (b) Green Growth

(¢) Youth Power (d) Women Empowerment

To help earthquake hit Turkey, which of the following operations is launched by India ?
(a) Operation Sahyog (b) Operation Hope

(c) Operation Dost (d) Operation Rahat

The first bilateral air exercise, ‘Veer Guardian 23’ is the joint venture of which of the
following countries ?

(a) India and Indonesia (b) India and Japan

(c) India and Nepal (d) India and Bangladesh

What is the name of Artificial Intelligence (Al) service launched by Google ?
(a) Chat GPT (b) Bard (c) Meta (d) MAI

26. In which ofthe following states of India, ‘Khelo India Winter Games’ were held in February
2023 ?
(a) Haryana (b) Jammu and Kashmir
(c) Assam (d) Gujarat
27. Article 1 of the Constitution declares India a/an .
(a) Union of States (b) Federal State
(c¢) Co-operative State (d) Independent State
VPD s Series-A



14. o8 99 YRA & =0 TRITAT J el i dieR foitt o &9 T g o fore for aifia fpam & 7
(a) 2012 (b) 2014 (©) 2016 (d) 2019
15.  SHTUHT S 2011 % AR, Frefafea Tsai 8 @ foraw Samsal it SHEE ae8 wH g 7
(a) TSTEAH (b) T (c) foer (d) Team=at wem
16. et fommg & Frefafaq i A AR T IRa A 121 & 2
(a) TIRTEAT (b) TresH (c) Her (d) foeTRIvSTET
17. Freafafea @ @ frash ey o wra 3 «areran fagra &1 strgam fan 7
(a) il hih (b) IR h1eh (c) T3he (d) W efam
18. frfctiiad o & i Teh 30 TR 1 oiig 31T & ?
(a) foretse (b) SATEHITEE (c) AFeTEe (d) BHTerEE
19. SUETEY 2011 o 3R, Fefofad vl 4 @ fora s 0 srqgfaa s 6 sHae &1 ged
Fifers afeema & 7
(a) i (b) I (c) fTem st (d) fenreet wem
20. ST T TE oo SiReT TE Sy HeE fRm R
(a) oA | (b) &S H (c) TIRH (d) SgueT
21. foacgiem S fraferfaa et &t /st | & fored safm 8 7
(a) sfafeT I ax (b) IUAT A A
(c) 3R A o (d) 3nfehaa A a
22. T U9 @, ardig 9T aeie 2023-24 6 \ra mfiesdarsd, e gy w1 am e w
8, HE g ?
(a) STRE ITIEH qeh TET (b) Bha foepma
(c) Fa1 vtk (d) e Sriehe
23. T H TR gehl <hl Heg o foTw Wi A Fret & & e &1 3ifoeH 3& fopan 8 2
(a) SATRIH TEIM (b) HATRIH &M (c) SATREH g’ (d) IATIEH TEa
24. vEen fguaf gamg snamg <SR misee 23 ffefad 5 & for gt 1 ogw sTm g 2
(a) WRA 3R FSHRRT (b) WA 3R A
(c) WRA 3R 9T (d) WRA 3R SISt
25. AT g1 YE i T8 IR seforeim wfda e am R ¢
() FAARAA (b)) TR (c) W (d) THTHE
26. YRA o T O 9 form U= B wadl 2023 § @t sfean foet e s SRS foRan R
(a) e (b) FHAFHR  (c) FEW (d) T
27. GfGYUH 1 37T | W ol HIYd idl &
(2) TRAFHITE (b)) FTHEAT () WEhIT | (d) Fqa=ATH
VPD 5 Series-A
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29.

30.

31.

32.

33.

34.

35S.

36.

37.

38.

39.

40.

41.

42.

Which of the following states hosted India’s first Rural Science Congress held in February
2023 ?
(a) Andhra Pradesh (b) Kerala (c) Maharashtra (d) Uttarakhand

What was ‘Dastoor’ under the Chand administration ?
(a) Land revenue (b) Judicial fee (c) Customary fee (d) None of the above

Taleshwar copper plate belongs to which of the following king of Uttarakhand ?
(a) Dyutivarman (b) VishnuvarmanI (c¢) Varishavarman (d) Agnivarman

Which of the following dynasty of Uttarakhand is mentioned by Hieun Tsang ?
(a) Katyuri (b) Paurav (¢) Chand (d) Parmar

Rani Karnawati was the regent of whom among the following Parmar Ruler ?
(a) Mahipat Shah (b) Fateh Shah (c) Maan Shah (d) Prithvi Shah

Kashipur was earlier known as :
(a) Kartikeypur  (b) Govishan (c) Katarmal (d) Lakhanpur

Who was the first political leader of Uttarakhand to be jailed during the Non-Cooperation
Movement ?

(a) Mohan Singh Mehta (b) Badri Dutt Pandey

(¢) Govind Ballabh Pant (d) Anusuya Prasad Bahuguna
‘Hardoodha’ is associated with :

(a) Goddess Durga (b) Lord Krishna (c) Naag Devta (d) All of the above
Chhapeli is a form of

(a) Song (b) Dance (c) Ornament (d) Animal

In Uttarakhand the duty of a ‘KAMIN’ was to : 5 E]
(a) Collect revenue in certain villages (b) Manage water supply nﬁ:?
(c) Collect food from forests (d) Arrange marriages et
‘Hill-Jatra’ was introduced by :

(a) Gurkhas (b) Britishers (¢) Muslim rulers (d) King of Tehri
Which one of the following fairs is related to fish catching ?

(a) Gaucher Fair (b) Devidhura Fair  (c) Maun Fair (d) Magh Fair
Bhadraj is the Folk-god of

(a) Jaunsar Bawar (b) Niti Valley

(¢) Kali Kumaun (d) Rath area of Garhwal

Which one of the following Peaks is not situated in Uttarakhand ?
(a) Nandakot (b) Chaukhamba (¢) Kula kangri (d) Dunagiri

The ‘Naula’ (naturally occurring water aquifer) which has been recently declared as a
protected monument of national importance by Indian Government is located at which of
the following places in Uttarakhand ?

(a) Kalap (b) Singhdhar (¢) Syunrakot (d) Khirsu

6 Series-A
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30.

31.

32.

33.

34.

35S.

36.

37.

38.

39.

40.

41.

foret o 9 forg T 4 Sl 2023 T g8 WA <h Ugelt TTHT fsi ik St Seter < 7
() 3y (b) (c) WEWTg (d) ITHEE
T, TRITEH o ST G &1 T ?

(a) Y-To (b) AMRHYeh () T (d) SR hIS T
ATeiver amus ffeiad o | ITEvs & foha Te 8 Trafea 8 7

(a) e (b) fersper-1 (c) SR (d) st
frefetfed I & STUrave & fohd TSTaT 1 IUH BT HdT 8 ?

() g (b) TR () % (d) TR

Tt ottt ffaRaa o & fore TR sees <t waferent off 2

(a) ARUAIE  (b) WdE e (c) W W& (d) gt wE
A Tget fohe 719 & STHT Srar o ?

(a) HITIhA (b) TTIfersToT (c) HeHA (d) TGIR
ITGUE hT I8 YT TSIAT hiF AT o 3TTEIT TGt o SRIF St SISt T=7 T 7

(a) T g dgar (b) sgiea Uwe (c) MAETeadd  (d) ITTHIT THTE TGN
GRGHT” |-l § -

(a) FEAGNE  (b) TEFAFIH () AT H (d) 3WE aft o
DA’ TH I 7 :

() THH (b) TIH (c) ITTIOT BT (d) T
IACEUE § “HHT T HR BT o7 :

(a) Tfoea et & Tora Teha (b) STATYfd SeEH AT

(c) ST T WIS Tehd i (d) forarel 6t =reren wen
Teetoam I i TS oft

(a) @I g (b) ITUSTH g (c) gfeew smEehi g (d) fegd i g
=1 1 9 5 =1 Uel “Hoel! gehed’ 8 "R g ?

(a) TR Wl (b) YT Hem (c) IO Hemm (d) =TE He

MU Ueh Aleheddl &

(a) ARSI S (b) Afdardt s (c) BATFAHH  (d) TTGITA & TS’ &A%
frferfiad Rkl # @ %1 @1 1% Iaavs # fRa 121 & 2

(a) e (b) =G (c) et Tt (d) gTfiTR

42. T (T €9 | g aTeT Soyd) T8 gTe €t 1 IR TR g TEH Hed o Tid T
&7 H g fern R, SEs i i i e e wmm m fRa g 7
(a) T (b) fiem (c) BETHIE (d) Reg

— R - e



43.

44.

45.

46.

47.

48.

49.

50.

S1.

Jamrani Dam is situated in which of the following districts ?

(a) Pithoragarh (b) Dehradun

(¢) Udhamsingh Nagar (d) Nainital

Which of the following lakes is not situated in District Chamoli ?

(a) Chakni Tal (b) Ling Tal (c) Tarak Tal (d) Gohna Tal
Which of the following districts has lowest literacy rate as per 2011 census ?

(a) Tehri Garhwal (b) Pauri Garhwal

(¢) Chamoli (d) Udhamsingh Nagar

According to the census of 2011, what is the correct descending order of following districts
of Uttarakhand on the basis of female literacy rate ?

(a) Udhamsingh Nagar, Pithoragarh, Rudraprayag 5 E]

(b) Pithoragarh, Rudraprayag, Udhamsingh Nagar nﬁ:

(¢) Udhamsingh Nagar, Rudraprayag, Pithoragarh Eﬁ?

(d) Rudraprayag, Udhamsingh Nagar, Pithoragarh

Which one of the following rivers is not a left bank tributary of river Alakananda ?
(a) Nandakini (b) Dhauliganga (c) Mandakini (d) Pindari

Which one of the following tribes is inhabited in between the Yamuna and Tons river ?
(a) Jaunsar Bawar (b) Tharu (c) Raji (d) Bhotia

According to Economic Survey 2021-22, the unemployment rate (15 years and above) in
Uttarakhand in 2019-20 was .

(a) 6.1 percent (b) 6.6 percent

(c) 7.1 percent (d) 8.2 percent

In Uttarakhand State’s Micro, Small and Medium Enterprises (MSMEs) Policy 2015, what
is the maximum limit of capital subsidy provided to women entrepreneurs ?

(a) T 12.51akhs  (b) X 20 lakhs (c) T 25 lakhs (d) X 32 lakhs
Match List-I with List-II and select the correct answer using the code given below the lists :
List — 1 List — II
(National Park/Wild Life Sanctuary) (Location/District)

A.  Govind National Park 1.  Almora

B.  Askot Wild Life Sanctuary 2. Pauri

C. Binsar Wild Life Sanctuary 3. Uttarkashi

D. Sona River Wild Life Sanctuary 4.  Pithoragarh
Code :

A B C D

(a) 4 1 3 2
(b) 3 4 1 2
(c) 3 2 4 1
(d) 2 3 1 4

8 Series-A



43. WU sty fefofad 9 @ feg SHue A fRa @ 2
(a) foeiiere (b) <& (c) 3gmfdE TR (d) Hfraret
44. Tfaiga siel 3 9 1 =Hiel e H o 781 & 2
(a) Tl a1 (b) foma (c) dReh T (d) T are
45. TrfaRad 9 & forg et 1 |T&aT €T 201 1 < STHUMET o STTHR 9o HH & ?
(a) el gaer  (b) WISl e (c) =mreh (d) IemfdE TR
46. SFIUMT 9N 2011 o IER, ITRAVE T TiEaT F1edm ¢t o e W Fefafad sHueh o1 g
TG FH TS ?
(a) SeHidE TR, ULRITE, FEHRMT (b) TieirTe, TR, ITmfdE TR
(c) SumiHE TR, TGum, fUeNrTg (d) TEIAMT, IEHTHE TR, fredirTe
47. Trefalied i § 8 HF T AeThTa1 A6t 31 AT AR & e Aol geree T 18l @ ?
(a) S=gTfehT (b) enefim OR:EUET (d) foest
48. Trfefad SHTToRl § & S Ueh JGHT TF i Afei & Ae § o il 7 7
(a) SIMEREE (b)) 9% (c) Teft (d) e
49.  3ATIeh TR 2021-22 % FHR, 2019-20 H ITTGUE H ST €T (15 I 3T 30 3fereh)
oft
(a) 6.1 9faerd (b) 6.6 fawra (c) 7.1 9faera (d) 8.2 gfawma
50. ITAGUE U <hl G&H, T U HEW I At 2015 H, wigen 3ufii 1 & S areft 6t 3reH
(afeel) 6 rferpan T 8 ?
(a) T12.5@/@  (b) 320 @ (c) 251G (d) T332
51.  TE-1 1 geA-11 < a1 gafora shifsre e gt o A= fou e e & w3 i g
gt -1 gt - 11
(TER 3T /a1 S STRIN) (FFafeafa/smug)
A, Tifee T 3TH 1. feHieT
B. 3G 99 e IR0 2. O
C. foror == g anmmea 3. IR
D. AT AE a1 e 3R 4.  fuuRrTe
%< :
A B C D
@ 4 1 3 2
® 3 4 1 2
¢ 3 2 4 1
@ 2 3 1 4
e e - v
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53.

54.
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56.

57.

S8.

59.

60.

61.

As per Economic Survey 2021-22, the Average Monthly Per Capita Expenditure of rural
area in 2011-12 of Uttarakhand was

(a) T 1520 (b) T 1726 (c) %1850 (d) %1975

When was Veer Chandra Singh Garhwali Tourism Self-Employment Scheme (Yojana)
introduced in Uttarakhand ?
(a) May, 2001 (b) August, 2001 (c) June, 2002 (d) June, 2006

The contribution of tertiary sector in Uttarakhand economy on current prices in the year
2021-22 is %.

(a) 42.92 (b) 12.11 (c) 44.98 (d) 55.52

In which year was ‘Samagra Siksha Abhiyan Yojana’ started ?

(a) 2015-16 (b) 2017-18 (c) 2018-19 (d) 2020-21

Which of the following terms comes next in the series : = =
YEB, WFD, UHG, SKI, ? nﬁﬁ?

(a) QOL (b) QGL (c) TOL (d) QNL =T

Consider the following statements :

There are six villages A, B, C, D, E and F. F is 1 km. to the West of D. B is 1 km. to the East
of E. A is 2 km. to the North of E. C is 1 km. to the East of A. D is 1 km. to the South of A.
Which three villages are in a line ?

(a) A,D,E (b) A,B,C (c) B,D,E (d B,C,F

A shopkeeper increases by 20% the actual cost of X 975 of a shirt and then sells it by giving
12% rebate on it while sells a pant of actual cost X 1,200 by taking 10% profit on it. What is
the total profit to the shopkeeper on both the items ?

(a) ¥164.00 (b) ¥ 174.60 (c) ¥150.00 (d) ¥ 180.60

The average temperature of a town in the first four days of March month was 27° centigrade.
The average temperature for its second, third, fourth and fifth days was 30° centigrade. If
the temperatures for the first and fifth days were in the ratio 3 : 4 then the average
temperature (in degree centigrade) of the second, third and fourth days of this month was
the following :

(a) 32 (b) 28 (c) 26 (d) 24

A newspaper agent sells equal number of three different newspapers P, Q and R to 327
persons. 7 persons get Q and R, 9 get P and Q, 12 get P and R. 3 persons get all the three
newspapers. How many persons get exactly one type newspaper ?

(a) 109 (b) 262 (c) 280 (d) 302

In a camp of persons there was a provision of food for 42 days. After 10 days the number of
persons increased by 300 as a result of which the food lasted only 24 days. What was the
number of persons in the camp, originally ?

(a) 100 (b) 375 (c) 900 (d) 500

What was the rank of Uttarakhand State in the Multi-Dimensional Poverty Index 2021 of
India in 2020-21 ?
(a) 3 (b) 5 (c) 15 (d) 26
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S52.

53.

54.

5sS.

56.

57.

S8.

59.

60.

61.

62.

3nfeie |dequr 2021-22 % FHR, ITRGUS F 2011-12 H Ireior & 61 379q witess gfd =ifke
= ol

(a) T 1520 (b) %1726 (c) %1850 () %1975
IAEve T T T g TTearell w¥ed WUSTR JISHT e IR <hl =it 7

(a) T, 2001 (b) 37T, 2001 (c) S, 2002 (d) S, 2006
ITGUE 1 ST ¥ 2021-22 H Gefieh & 1 IMCH Jafed hHai ® % & |
(a) 42.92 (b) 12.11 (c) 44.98 (d) 55.52

Ty e SR e form o e <Y TRt ¢

(a) 2015-16 (b) 2017-18 (©) 2018-19 (d) 2020-21

guft : YEB, WED, UHG, SKI, ? 8 377Tet e f=fafga A a w912 ?

(a) QOL (b) QGL (¢) TOL (d) QNL
FrfaRaa et w famm it

AB,C,D,ETF®:Ma g |F,Dhultam# 1 fooft, W2 | B,ER qd & | forrft. m 2 |
AEHIRE2FHR WBIC,AFEH 1 f5dt. B 1D, AF o | foft. |

M Y A M Th IR H E ?

(a) A, D,E (b) A,B,C (c) B,D,E (d) B,C,F

T GehMGR Ush ShHIS o AIiaeh o T 975 Wi 20% Gt foredr & 3TN fiht 38 W 12%
Y2 oL o ¢l & STeIfeh Teh e, Torerent arafesh 9o 1,200 36 W 10% T AT Skt ST
2 | GHMGR I GHI W Hel THerTeRt o1 o g3 7

(a) T 164.00 (b) T 174.60 (©) T 150.00 (d) % 180.60

Topeft =T8T o1 ATE WEH o WU =R fEHT 1 3fia qraae 27° S o1 | 39k g, e, =Y
3R died TeAT o1 STHa aTaaH 30° e o7 | AfE T 3R dted feHi < aTaHHT 1 3TIATd 3:4
o 8 G, et Td =t T ot sitea arwe (ferft wiéire o) frmforfiea o -

(a) 32 (b) 28 ©) 26 (d) 24

Teh HHMER -9 311 G0 T 3§ oiF fire -3 Sam=m-u=1 P, Q 9 R 1 327 SAhA1 ! Sl
217aRFQIRTAE, 9PI QWA S, I2PIRAA B | 3 SHfth il THRER-9 &id & | fohar
=fh fvad ®9 4 Shael Teh YohR o1 GHNIR-U3 od & 7

(a) 109 (b) 262 (c) 280 d) 302
SR o Teh vy H 42 feT <1 WIS Sqetsy o1 | 10 fe uv=ma 300 =afth 9 § 9¢ 7 5@ R
HISH shael 24 T 1 9TH 81 T | Yo7 ohed § Sl shi g e off ?

(a) 100 (b) 375 (c) 900 (d) 500
2020-21 ¥, YR % SRR Fear gaeis 2021 § ITRRGVE T 1 FAT 16 o7 7
(a) 3 (b) 5 (c) 15 (d) 26
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63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

The bulbs are usually filled with which gases ?

(a) Oxygen and Hydrogen (b) Nitrogen and Argon

(¢) Helium and Hydrogen (d) Oxygen and Argon

Main constituent of fire-extinguishers is :

(a) Sodium hydrogen carbonate (b) Sodium hydrogen sulphate
(¢) Sodium carbonate (d) Sodium sulphate

Marsh gas is commonly known as :
(a) Methane (b) Ammonia (c) Nitrogenoxide (d) Carbon monoxide

For the protection and improvement of environment “The Environment Protection Act” was
passed in :

(a) 1982 (b) 1989 (c) 1983 (d) 1986

The device used to produce electric current is called :

(a) Galvanometer (b) Motor (c) Ammeter (d) Generator
Mangroves are : .
(a) Salt tolerant (b) Sugar tolerant %EI
(c) Cement tolerant (d) Nitrogen tolerant Of= ¥

The Biological Diversity Act was formed in :
(a) 2000 (b) 1998 (c) 2006 (d) 2002

Which of the following is a foreign breed of cow ?
(a) Red Sindhi (b) Sahiwal (c) Murrah (d) Jersey

Four (4) layers of TCP/IP reference model are :

(a) Application, Host to Host Transport, Internet and Network Access
(b) Transport, Control, Internet and Application

(c) Host, Service, Internet and Transport

(d) Application, Host, Service and Internet

is a type of register that stores the address of next instruction to be executed by
computer.
(a) Buffer Register (b) Program Counter
(c) Instruction Counter (d) Next Register

73. Which of the following memory is first referred by the CPU while searching for
data/instruction ?
(a) Main memory (b) Cache memory (c) CDROM (d) Hard disk
74. When a computer is turned ON, the first action it performs is :
(a) POST (b) GHOST (c) HOST (d) HOTS
75. The levels of which Vitamins are kept high in the poultry feeds ?
(a) Vitamin A and Vitamin C (b) Vitamin A and Vitamin K
......... (c) Vitamin Band VitaminC __ (d) VitamnC
VPD 12 Series-A



63. od H AMRIG: HiF H TE af At § 7
(a) SATFHIH 3TN ET3gIeH (b) TTESISH 3T ATH
(c) EfcTam 3R BESIeH (d) AT 3T AT
64. SATTSITHS I &I TTH ¢ :
(a) TNSAH EZSISH HIEHS (b) TSI ETZSISH Tethe
(c) Tfeam Hrame (d) Tfeam gethe
65. TTHT=Id: | 7 <l gl JATCT 2 :
(a) HA (b) I (c) TEISH THEE  (d) HIE THITHTES
66. TITITOT o TRV AT R & “TTaror wxeqor Aferfm urfea foam ma
(a) 19827H (b) 1989H (c) 1983 H (d) 19864
67. ToRIq 9 %1 IqE I TeT I DI haEd @
(a) TR (b) WX (c) THrX (d) SFRX
68. HUNEECE :
(a) TR TR (b) TEHT HEST (c) e @] (d) IS HiesT]
69. S fafayar srfufm s=mm m
(a) 2000 (b) 1998 H (c) 2006 H (d) 2002H
70. TN, T H foeeh TR ?
(a) oot fomeft (b) HTETeT (c) TUE (d) e
71.  TCP/IP {h{H Hige ol TR (4) Wd & :
(a) TARRYM, BRT ¢ B ZUIE, $2tHe U eaeh Uad
(b) TEUIE, Hroled, ITLIE el UA Teh3H
(c) BRL, TfaE, $CE U RIS
(d) TR, BRe, Tl Td $ete
72. Teh YehT ohT TSR & S X g TeaTied ht ST STeft 3TTett $e¢aT o Ud ol &R
HIATR |
(a) FHLITET (b)) TITH IS (c) TERAFRBR  (d) FRL T
73. IT/3LAME Hl @S Hid T8I = T F @ 70l CPU g0 96d T&et T Shl STl 2 2
(a) B O (b) w1 T (c) HETH (d) = few
74. 9§ SR ON fohd AT 2 O Ta8 Uget fohe 12l <l T T & 7
(a) POST (b) GHOST (c) HOST (d) HOTS
75. o fererfiri <Y mm gfifen o iem o stferes welt It 7 7
(a) Torertim v ot foerfum (b) farerfim v 3R faerfm &
(c) Tarerfim <t 3R foerfim <ft (d) fererfim =t
— N - v



gvug - 2

= Bt

76. FHH ) T H T G @ :

(a) HRE (b) frem (c) BFER (d) &Fa
77, AHCE I H YGH T §

(a) A (b) & (c) 39 (d) ==
78. @MW, T AR T’ — 8 AhITh i IUTH Y ¢ :

(a) TS B T BT | (b) I T T & WM | Q;-j:@

(c) HUY! SHIER FLT | (d) femeR s wrafdam | EET
79. 30 A fopw wreg o Sum wges TR B3R 7

(a) Frem (b) Fecare (c) Flie (d) FEr
80. “Tlehd=1’ Teg o1 faeTi 3Ieg 2 :

(a) T (b) TSt (c) “TSITa= (d) S
81. TH Ui @ =ieH fgur g 7

(@ & (b) ® (©) @ (d ¥
82. %I hLd 1 &l Siia &; ST A JJ & |” — 38 19 o 0 H T fom=g @ :

(a) I (b) ITh-Torg (c) redfem (d) gt
83. “Geal Yeq HI AEHAFI B :

(a) T8 (b) geotR (c) e (d) g™
84. WU MR W “g” ford THR h1 oA & ?

(a) e (b) T (c) 3 (d) drere
85. 3@l § G IaET” — gTal o1 3 31 8

(a) T hIE HEAT (b) HiferRmTerg I AT

(c) TGl T WIAH e BH1 (d) AtEt 6t Siurd g
86. I’ Teg TTH ¥ fohErehl waRIaTH 7 ?

(a) IR (b) =HI3T (c) (d) Tes
87. IATHR H fireft STIQre’ — 39 SRt & fore e 3reg 2

(a) Togammei (b) IE™ (c) U Tufa (d) T

88. “Tg N A HL, W AET — I T TIh S qAUT A’ T10 & forey T w1 9g 3 ?

(o (o o (o o (o
(a) JRYTHIh o™ (b) Hre-ETHIh HeH (¢) MSar=eh oM (d) MI==aTeh Te-H™
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89. “HIE’ e § UL T
(a) &9 (b) &L (c) &1 (d) ¥

90. 3H ¥ foacm 1 gfE | 7o Ae-FH @
(a) FEH—THd  (b) 3 —FTH (c) IRH —IRHA (d) afr —forg

91. “EHT Y | 3fE MU, 1T WU feam” — Aehifch o1 AT B -
(a) Teurfa sga srffeaa 7 |
(b) T § TEh GHT |
(c) el AT o T WX S AT o BT H S |
(d) &S IFTEH! THH g T |

92. “3THTEY <hl T Ta’ — 3H IR o T Ueh T2 B :

(a) T (b) Tasfiar (c) Tt d) $7
93. 3T’ Iec 1 Af-fo=ae 2 :
(a) IS + 3= (b) 3= + 31 (c) 39 + 3 (d) 37 + 3

94, TP Pl B TTA<I 8 Bl & — I J “TIer” H i T T ?

(a) STfaTaS (b) SHAfRaTIH (c) vEar=h (d) Z=FET=ES
95. TH Y qCHd VG §

(a) TR (b) WIS (c) FHF (d) e
96. “fedma vIeg T AW TR :

(a) femm= (b) Tem (c) SR (d) SHTST
97. 30 & foru faepea (3rsg) & <31 IuERt 1 TR T IR 7

(a) 3Aderd (b) STFHT= (c) 3Fftamor (d) 3iF9a

98. “ITOC Iog H THH 7 :

(a) AICH dge  (b) TFIGH ey (c) Ty qgey (d) U0 dcged
99. ZH 4 fory ree w1 Gf-fo=ide Tetd B 7

(a) M-+ (b) T —F: + 0 (¢) TeH - +3F (d) TMGT—TM +
100. 99 & ‘YO Iec Kl YHHIT= IeE Al B ;

(a) Tafer= (b) U (c) JAf d) &
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